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KMnO, + KNO, + H,SO0, — > Mn50, + H,O0 + KNO, + K,SO,
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KMnO4 + KNO2 + HZSO4 —> MnSO4 + HZO + KNO3 + KZSO4
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Zn
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Zn(s) / Zn** (1 M) // Ag* (1 M) / Ag(s)
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Table 20.1 in at 25 °C*

Reduction Half-Reaction E* (V)
Fi(a) + 2 e ——> 2 F (aq) +2.87
H.0:(aq) + 2 H'(aq) + 2 e —> 2 H:0(¢) +1.77
PbO,(s) + SO (aq) + 4 H'(aq) + 2 e ——> PbSO.(s) + 2 H0(¢) +1.685
MnO. (aq) + 8H'(aq) + 5 e ——> Mn?* (aq) + 4 HO0(€) +1.51
Aut(aq) + 3 e > Au(s) +1.50
Clig) + 2 e 2 cu (aq) +1.36

Cr.0,° (aq) + 14 H'(aq) + 6 e
0:(g) + 4 H'(ag) + 4 e
Bra(€) + 2 e

2 Cr** (aq) + 7 Hz0 (&) +1.33
2 H,0(¢) +1.229
2 Br (aq) +1.08

NO, (ag) + 4 H*(aq) + 3 e NO(g) + 2 H0(€) +0.96
OCL (aq) + H,0(¢) + 2 e €l (aq) + 2 OH (aq) +0.89

Hg?'(aq) + 2 e~ Hg(€) +0.855
Ag'(aq) + e Ag(s) g +0.799
Hg,?*(aq) + 2 e 2 Hg(¢) 2% +o0.789
Fe’*(aq) + e~ Fe?* (aq) £ 40771
Ixs) + 2 e 2 I (aq) 2 sos3s
0:(g) + 2 H,O0(¢) + 4 e 4 OH (aq) ’: +0.40

—

—_—

—_

—_—

—_

—_

—_

—_

—_
Cu?*(aq) + 2 e ——> Cu(s)
Sn*‘(aq) + 2 e ——> Sn**(aq)
2H'(aq) + 2 e ——= Halg)
Sn*‘(aq) + 2 e —> Sn(s)
Ni**(aq) + 2 e~ ——> Ni(s)
vi*(aq) + e~ —> V*'(aq)

PbSOL(s) + 2 e —— Pb(s) + SO (aq)
Cd**(aq) + 2 e ——> cd(s)

Fe?*(aq) + 2 e~ ——> Fe(s)

Zn?*(aq) + 2 e ——> Zn(s)

2 HO(€) + 2 e ——> Hx(g) + 2 OH (aq)
A (aq) + 3 e —> Al(s)

Mg*'(aq) + 2 e ——> Ma(s)

Na‘(aq) + e~ ——> Na(s)

K'(aq) + e —> K(s)

Li‘(aq) + e ——> Li(s)

Tnceasing stengthof o

= 1a volts (V) versus the standard hydrogen elecirode.
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Na® +e~ - Na E°= —271V L] L]
Cl,+2e” = Cl” E°=+136V
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Nat + e~ - Na E°= —271V

Cl,+2e” = Cl” E°=+136V

r|I|I|I—_l

2H,O + 2e~ - H, + 20H™ E°= —0.83V

1 - - o
—0,+ 2H  +2e” - H, O E"= 123V
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1. inanfuaumsiaiuddsaos
1. FeO + CO — Fe + CO,
Heg -+ Fe3* + CI°' — Hg,Cl, + Fe*'

2.
3. Fe + 02 -+ HZO —_— F6203 + Hzo
4.

[Fe(CN)s]>~ + Cr2¥ — [Fe(CN)]* + cr?t
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2. 1jeqaaumsdodelul

Cu(s) + H'(aq) + NOz(aq) — Cu?'(aq) + NO(g) + H,O0)

mMauus:ansuov Cu Iu 1 n&dduus:ansuov H,0, Uuirils
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3. mrualid Mg(s) / Mg**(aq) // Zn**(aq) / Zn(s) E° = +1.62 V

cell

Zn(s) / Zn**(aq) // H*(1IM) , H,(1 atm) / Pt(s) E°_, = +0.76 V

mAnglwwhnsvisaduov Mg(s) / Mg**(aq) AWDuIrnls

1. 238V 2. 0.86 V

3. -0.86V 4, -2.38YV
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4. mnruali

& o o p

o

Au'(aq) + e —_ =
Ag'(aq) S
Cu?*(aq) + 2e7 @ —=
2H"(aq) + 27 @ —=
C02+(aq) + 2 @ —

2C0O,(g) + 2H(aq) + 2 —>

Au(s)
Ag(s)
Cu(s)

H»>(g)
Co(s)
H,C,04(aq)

+1.68
+0.80
+0.34
0.00
-0.28




AsvisadnlaniJodenunddo:inafis Tolasou

1.d,b na= d, f
2. d, b imdu
3.d,e na=- d, f
4. d , e IMuu
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5. 9 E°uovnSvufnsandolut

Jnnsensanisu

fngdlwwh ( Toad )

2H"+2¢ - 5 H2
02+2H20 + 4e — , 4 0OH

Br2+2e' —» 2 Br

(0

+ 4H" + 4e¢ —— 2 H,0

2

2HO + 2e¢ H, + 2 OH

- 0.83

0.00
+ 0.40
+ 1.09
+ 1.23
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UnnsendianinsaBavovaisa=ara HBr 10udu 1 mol/dm’liwamudola

1. waafrwininanvaneluadio O,
2. waantuininanganalnadio Br,

3. Andlwwhmauannmifinaufnseaniinu 1.09 Toad

4. pH vovarsa:ara:Aods IWULU
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